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1. Answer the following as directed : 1x6=6

(@) Green revolution owes its origin in
the finding of new dwarf variety of
wheat/rice seed by Dr. Norman Ernest
Borlaug.

( Choose the correct one )

(b) Which State of India is the highest
producer of rice?
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(2)

(¢) What is the full form of IIP?

(d) The first railway line in India was
opened for public traffic on 16th April,
1853 between Mumbai to Pune/
Thane/Khandala.

( Choose the correct one )
(e) The old alluvial soil of North-East India

is especially suitable for the cultivation
of

( Fill in the blank )

() Crude oil is sent to oil refineries of
Noonmati in Assam and Barauni in
Bihar through the pipeline from Digboi/
Naharkatiya/Moran-Hugrijan oil field.

( Choose the correct one )

2. Write short answers of the following
(within 150 words each) : 4x3=12

(a) Discuss in brief the role of transport in
regional development.

(b) Give a brief description of the racial
composition of the people of India.

() Write a brief note on the cottage
industries of Assam.
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The questions of Unit—I, Unit—II and Unit—III
! are to be answered within 300 words each.

'UNIT—I

( Agriculture, Industries and Transport )
3. Give an account of the distribution of iron
and steel industry in India. 10

Or

Describe the spatial distribution of rice
cultivation in India. What are White and Blue
revolutions? 8+2=10

UNIT—II
( Socio-cultural Structure )

4. Give an account of the major tribes of India
and their distribution. 10

Or

Discuss the trend of urbanization in India.
State the problems of urbanization in the
country. 7+3=10
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UNIT—III
( Economy of North-East India )

5. Give an account of the spatial distribution of
tea cultivation in Assam. Discuss the
problems of agriculture in the region in brief.
6+4=10

Or

Describe the distribution of coal in
North-East India. State its role in the
industrial development of the region. 7+3=10
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